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Note: You have four cholces for each objective ype question as A, B, C and D. The choice -;{Jﬂwﬁaﬂr

which you think is correct, fill that bubble In front of that question number. On bubble shest, une marker or pen
to fiil the bubbies. Cutting or filling two or mers bubbles will result in zero mark in that question. Attompt as

many questions as given In objective type question paper and leaye othars blank. No eredit will bo swarded

in case BUBBLES are not Mied. Do not solve quastions on this sheat of OBJECTIVE PAPER. 3

Q.No.1 - ; Ay

(1) I (x=1,p+1)=(0,0)then(x, y)is equal to:- i (xy) B(x-Ly+D)=00/
(A) (1, ~1) 8 (-L1) GOy ®-L-1

(2) Aline segment has end poirit/points:- Pl L )
(A) One ] (B) Two » (C) Three o (D) Four 4

(3) Aray has end polnt/points: APl LA ()
(AThree £ (@) One o (C) Four (0) Two » ,

(4) Inaparafielogram opposite sidesare S UBIRELbnge ()

() Congruent JI* (B Non-congruent fi22 () Porpendicuar o (D) Nomparallel 17

(§) The bisectors of the angles of a tangleare . A2 e, Jtﬁu::liu::‘rﬁ.iﬁdr (5)
(A) Equal 4L (B) Perpendicular »* - () Concurent i/ (D) Equidistant 5

(6) Alinessgmenthas  midpoint 2oy was/ @)
(A 1 (8) 2 (c) 3 (D) 4
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(A) 20em* (B) Bem® (C) 64cm* (D) 16em”

(B) The medians of a trfangle cut each offier In the rafio L d"uﬂwlf A ﬁpﬂ»ﬁ%ﬁ-‘-{" (8)

(A) 2:1 2 (B)1:3 (C)1:4 (D) 1:1
(9) Productof [x y][_l}ls-oqual to:- -q—c‘-’@] ()
ARyl B -] ©F @ A |
(10) Real part of an(£+f3}]5:p U @@ i 'i’ Zlab{:' + fl}/'.;gf&r (10)
(A) 2ab # %% ) ~2abi
(11) The logarithm of unity tg.any m .»:;.t’:uiga{_____ﬁrfﬁ % & {ubrc’( (11)
éﬁﬁ (©) e (D)o

1 1
sl to e (1)
2b ~2a «7h
(A) = (8) 5 (C) m (0) i |
18] Factorsof 527 = 17w = 12y are.. AL S 1T 122 (1)
(A) (x 4 4y), (5x+3y) (B) (x - 4y), (5 - 3y)
(C) (x =4y}, (5x + 3p) (D) (Sx—=4p), (x+3p) ; oy Sl
14) Whatshould be added to complata the square of x° + 64 7 by B PR s e 2 (14)
(4] By (B) <8x% () 162 D) 4
(15 & =0 ls sollition of the inequality. . ,ﬁ_ﬂfw‘ﬁ.:{hbﬂﬁ‘ x=0 (15
(A x>0 B I+5<9 () x+2<0 D) x-2<0

Ans.  (M.ATY1):1A2B,3BAA5C.6A.TD,8A.9C, 10B, 1 1D,12B,13C.14C. 15D



